
[image: image1.png]Warheads

50000

40000

30000

20000

10000

o

US-USSRIRussian Nuclear Stockpile, 1945-2002

1945

1850

1955 1960 1365 1970 1975 1%80 1985 1360
Year

1835

2000




[image: image2.jpg]



This chart shows the world's firepower in 1989. The center dot represents the firepower of World War II: 3 megatons. The other dots represent the world's present nuclear   weaponry which equals 6,000 World War II's or 18,000 megatons. The USA and the USSR shared this firepower with approximately equal destructive capability.

The top left-hand circle enclosing 9 megatons represents the weapons on just one Poseidon submarine. This is equal to the firepower of three World War II's and enough to destroy over 200 of the Soviet's largest cities.

The circle in the lower left-hand square enclosing 24 megatons represents just one Trident sub with the firepower of eight World War II's - enough to destroy every city in the northern hemisphere.
The Soviets have similar levels of destructive power.

Just two squares on this chart (300 megatons) represent enough firepower to destroy all the large- and medium-size cities in the entire world. (U.S. Senate staff have reviewed this chart and found it to be an accurate representation of the nuclear weapons arsenal.)
Harold Willens. The Trimtab Factor. 1984

—> Fewer than 3 squares (400 megatons) represent the warheads removed from missiles in the INF treaty. Although missiles were destroyed the warheads were preserved and are being deployed on other delivery vehicles. There was no decrease in destructive power.

IT IS A LONG LONG WAY TO NUCLEAR DISARMAMENT. WE ARE SURROUNDED BY FORESTS OF NUCLEAR DESTRUCTION. WE MUST GO ON.
Updated 1989 by Canadian Physicians for the Prevention of Nuclear War, 170A Booth St., Ottawa, K1R 7J4
